Chapter- 3

ADDITION

WORKSHEET

Q1. Add the following:
a) 98+0=

Q2. Find the successor of the following
a) 159=

Q3. Addition of 2-digit numbers (without carry over)

TO TO
1) 41 2) 31
+4 2 +24

1) TO TO
76 2) 47
+ 17 +35

1) HTO HTO
526 2) 844
+ 7 + 6

Q6. . Addition of 2 digit with 3-digit numbers (with regrouping)

1) HTO HTO
765 2) 543
+ 38 + 49
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Q7. Addition with 3-digit numbers (with regrouping)

1) HTO HTO
375 2) 408
+286 +496

Q8. Kabir gets 43 marks in the first test. He gets 35 marks in the second test. How many marks
does he getin all?

Q9. If one number is 390 and the other number is 60. What is the sum of those two numbers?

Q10. Lucy went to the grocery store. She bought 12 packs of cookies and 16 packs of noodles.
How many packs of groceries did she buy in all?
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